Si.
’// AoVOIF 1y 85
’ WEPE 1P LT F dwiid)lo>

YRS 29
Ligad 50 LD 35T diad 93 (L3 BB yl)lastiwl ples

E8) 01)359 Pyise S g d;i_">|.)):3 9> jl é@.) 41\)’9)401 wlizo g dl:k,o)l.e,g 9 fﬂl,{l O])l.)jll.wl as .5)5 lo&l_cl gy Cduo dwl> audls ) ‘)94115 29
A1 slaiel gly oyl

HBlwl (liwws)S )3 cow Jol Hlasliwl (soluwl OIS (659, j A=y a5 cawl H)b gl eadS 295 1259 oWy (5> Colw Uﬁb)]}f 8]
D0 wlED] Gliwsgl g Glinaw Gliwl ) z2ob cuw Jol )bl Haizes g liwjgs )3 Oy Hlbgeo

o) ..\.(b|9'> UL)L) O Mg O,gl o..\.uT RTY. 9> L:S" L_Q)b 41]|;L2)0| 9 03 wlal &5 Cawl Ls)l.\.')L’iwl ORaDd)9d O,gl :.\9)9' 9

0Ll (yliwsyS 5> Ciwn Jol )bl (oMl GBI (55w 51 a2 a5 Gl Hb gl ¢l 1eaS g 3,5 o)Ll pgo (1SS 4 (pizad )5S )9
Dy OBl Lz el g Gl linl )3 gob Chuw Jol )lulivl puizes g lwjs> )3 0y plbgas



